ECT 8473

T EDTIER

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
REEMRENER R SFREHTRR ECT 8473 WEMBEAZEY
B NBUREEET KE-25 £ +125°CH ECT ENEX BRI~ Mm.ECT 8473
BEES, RETESE 100 mbar, B8 SHAE MEFEHNES, €5
BEBEAR TN AHEK BN SRR AR,

FZF

o HHLEE
0 REZS
» kRhEE

RAIE

MERE &R

NETE 0..0.1%0..40bar
0..1.5%0...500 psi

BHES 4..20mA,0..5VDC,1...6VDC,
0..10VDC,0.5...4.5VDC Lt =

NLH @ 25°C (BSL) #224(E T 0.2 FS B8(E (£ 0.3 FS BALE)

FERR

NEEEEL100ZE
HENNRESE

M EE LW EDNE
HAEIEE

1 R % T

HEE @ +25°C HAYE +0.3%FS HA(E

(% 0.5 % FS #ELE, 1% FS HRE)
VR -25°C... +125°C
NRRE -25°C...+125°C

B4 PVC 22:-5°C.... +60°C
B34 PUR 24:-20°C.... +70°C
345 Raychem 08:-20°C ... +100°C

Trafag sensors & controls Industriestrasse 11
Switzerland 8608 Bubikon

+4144 9223232
www.trafag.com

sensors@controls

MiEE H72326an 11/2023

EEE SR



ECT 8473

TR /RS REB

EhiEn

BN

H72326an

8473. XX XX XX XX XX XX

EE BE BRED TE BE 1BIRED
[bar] [bar] [bar] [psi] [psi [psi]
0..0.1 12 2 66 0..15 15 30 F6
0..0.16 12 2 67 0..2 15 30 F7
0..0.2 12 2 68 0..25 15 30 F8
0..0.4 12 2 69 0..5 15 30 F9
0..0.6 12 2 70 0..10 20 30 GO
0..10 2 3 71 0..15 30 45 Gl
0..16 3.2 4.8 73 0..20 40 60 G3
0..25 5 75 75 0..30 60 90 G5
0.. 8 12 76 0..50 100 150 G6
0..6 12 15 77 0..100 200 250 G7
0..10 20 25 78 0..150 300 375 G8
0..16 32 40 79 0...200 400 600 GA
0..25 50 75 80 0...250 500 625 G9
0..40 80 100 81 0...400 800 1200 HO
%88 5P AfEEE 0...500 1000 1250 H1
0..25 125 18 55
20 30 56
30 48 57
0..10 50 75 58
0..16 80 120 59
FARHES, #44) EAHEO / 4h55: 1.4305 (AISI303) 54 f)ﬁiwih, PR EFEEO ) 5h5%: 1.4305 (AISI303) 2 o,
zfil\lis\jlg‘tl{c][)ifgﬂ FEF7#0 | §M55: 1.4404/1.4435 56 ﬁf;i?&ﬁ FEF7#0 / 155: 1.4404/1.4435 -
iﬁmﬁ’ PR BT 5 14462 (ISBIBLN) g, f)&gﬂiﬁ, FARLEEHRO) / 5h55: 14462 (AISI3L8LN) o0
5 4%
R SRsHes * aEn sasHas? "
Gl/4"migg? 10
G1/4"MES 17
G1/2" §MELT DIN3852-A2 21
G1/2" §MELL DIN3852-E 2 i)
G1/2" MBS DIN3852-E, Hipkg 2 12 14 59
1/4" NPT §h2%, ANSI B1.20.12 30
1/8" NPT §h24, ANSI B1.20.12 10 43
7/16"-20UNF §M24y, SAE4 (J1926) 4
7/16"-20UNF §M24, DIN 3866 2 18
7/16"-20UNF REB4L, SAE J512 iRl & kg 2 24
7/16"-20UNF K24y, SAE J512 il 1 it ¥ 44
9/16"-18UNF JME4L, SAE6 (J1926), SMBLY, B : Mtk 612 13 61
R1/4" 5M2%, DIN3858 2 19
G3/4" HibgAE 2 4 52

HHHESL EN 175301-803-A (DIN 43650-A), #4 % PA
$EHESK M12x1, 5§, PBT 44k

$&5HE3k Packard Metri Pack, Mat. PBT 15
F4iPUR (1240 4i#% 3k PA 6-3),-20°C ... +70°C9
FE4PVC (R4 453% 3k PA 6-3),-5°C ... +60°C 2 89

8 4iRaychem (SR4UFB4HEK PA 6-3),-20°C ... +100°C %99

T 2/9

sensors <0 controls

05
35
51
24
22
08



ECT 8473

8473. XX XX XX XX XX XX

RiHES RHES Ak | 1 (fieR) U (fiteg)
4..20mA (Uf£EE9V)/20 mA FRdES) 9..30VDC 19
0..5VDC >25kQ <20mA 10...30VDC 14
1..6VDC >5.0kQ <20mA 10...30VDC 16
0..10VDC >5.0kQ <20mA 15...30VDC 17
0.5...45VDC >5.0kQ <20mA 5VDC = 0.25VDC thE 23

fofF B4 FKM (-20°C ... +125°C) 61
244 CR < 100 bar (-25°C ... +100°C) 7 62
%44 EPDM (-25°C ... +125°C) 63
FEABERETH 0 1.0 mm, #4531.4305 8 40
FEAIEEMRRBTTH 0 0.4 mm, #411.4305(f5R13254, 84) 571.4404 (5482 50, 51, 56, 80, 81, 86) © 44
$E713E5LEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, ST T B4 ER 4 ... 9 mm, Bk 532 UL94-VO 46
ETLIELEN175301-803-A (DIN 43650-A)/REMAS, -40°C ... +125°C, W FEAER 4 ... 9 mm, P42 UL94-VO 56
$EF|HELEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, ST F BB ER 4 ... 9.5 mm, Bik 52 UL94-V2 58
HEFLESL M12x1, 5 33

RS AR R 1R 1+, HE5 2 -

(UEHIES 4 ... 20 mA FIEBZ/AFESK EN175301-803-A / DIN43650-A) 92
S| & RS 1 W, S 2 -, dEE 3 + -
(S 14, 16, 17, 23 FIEEES AL EN175301-803-A / DIN43650-A)

1ERE| /e HaE 1+, 5T 2 -, St 3 o7
(S5 14,16, 17,23 MRS A4Sk EN 175301-803-A / DIN 43650-A)

Y53 | 4R IS HEE 1+, 155 3 -, HEE 5 it o
(NETFHHES 4... 20 mA FIEBIE A&k 35, M12x1, 5 £1)

YIRS PR 1 1+, HE 3 -, 4 1t 6o
(EaHES 19 MRS AEK 35, M12x1, 5 §)

RS | AR IS R 1+, 155 3 - £
(S 4 ... 20 mA FIEBZR Ak Packard Metri Pack, 3 £t)

B3I S L+ 8 2, 4B 3- o
(S5 14, 16, 17, 23 IS Atk Packard Metri Pack, 3 &)

BAKE 15m M
HAKE3O0m 3M
HAKE5.0m 5M
S ZOMINTIZE EN175301-803-A (DIN43650-A), BFRREIE (FA 85°C) L9
ZHEaEY VM

ﬂ BENESEE:FHEEETRER T 0 bar (B340 -1 bar - 0 bar)
ST EERLS, EZVAES1000mbar (431E)

ﬂ RAEEE:JFTF 0 bar UTFHNEEE, 55 4... 20 mA (55 19), 1... 6 VDC (X#5 16) &1 0 ... 10 VDC (K85 17) , BRILU#IT R AR A 5 S 2559 0 bar,
ESARN -1bar. INERRMHHETEE.,

H72326an 75 3/9 sensors &) controls



ECT 8473

BIMESY BAEN? & BEERE BA BiEEE TE BE ez}
-0.4 0.6 20.1 <0.2 1.2 1.0% 21
-0.4 0.6 20.2 <0.5 1.2 0.5% 21

-1 1 205 <12 2 0.3% 21
-1 2 =12 <2 32 0.3% 22
-1 4 22 <45 8 0.3% 24
-1 6 >4.5 <7 12 0.3% 25
-1 10 >7 <11 20 0.3% 26
-1 16 >11 <17 32 0.3% 27
-1 25 >17 <26 50 0.3% 28
=l 40 >26 <41 80 0.3% 29
FrEENBAIAE

1) &NEN= &REER, BENER HEXNE)
2) RAE= BEXRGENRSES (8B

VA= i (B2 GERAPRARAR)

Ems KRR ENEE RAZE EAEO RliES BEE
[bar] [bar] +25°C #RNE
[%]

ECTO0.1A 8473 66 5417 050000 0000 19 58 61 0..0.1 1.2 G1/4"JMEL 4..20mA 1.0
ECTO0.16A 847367 5417050000 0000195861 0..0.16 1.2 G1/4"5MELL 4..20mA 1.0
ECT0.2A 847368 5417050000 000019 58 61 0..0.2 1.2 G1/4"5MELY 4..20mA 0.5
ECTO0.4A 847369 5417050000 0000 1958 61 0..04 1.2 G1/4"IMEL 4.20mA 0.3
ECTO0.6A 8473705417 0500000000 19 58 61 0..0.6 1.2 G1/4"IMEL 4..20mA 0.3
ECTO.1V 847366 5417 0500000000 17 58 61 0..0.1 1.2 G1/4"JMEL 0..10vDC 1.0
ECT0.16V 847367 5417050000 000017 58 61 0..0.16 1.2 G1/4"5MELY 0..10VDC 1.0
ECTO0.2V 847368 5417050000 00001758 61 0..0.2 1.2 G1/4"5MELY 0..10VDC 0.5
ECTO0.4V 847369 5417 050000 0000 17 58 61 0..04 1.2 G1/4"MELL 0..10VDC 0.3
ECTO0.6V 8473705417 050000000017 58 61 0..0.6 1.2 G1/4"JMEL 0..10vDC 0.3
ECTF0.1A 8473 66 5652 050000 0000 19 58 61 0..0.1 1.2 G3/4" HiFRAE 4..20mA 1.0
ECTF0.16A 8473675652 050000 00001958 61 0..0.16 1.2 G3/4" HiFRRE 4..20mA 1.0
ECTF0.2A 8473 68 5652 050000 0000 19 58 61 0..0.2 1.2 G3/4" HifRHE 4...20mA 0.5
ECTF0.4A 847369 5652 050000 0000 19 58 61 0..04 1.2 G3/4" HiFRAE 4..20mA 0.3
ECTF0.6A 8473705652 050000 0000 19 58 61 0..06 1.2 G3/4" FibRE 4..20mA 0.3
ECTF1.0A 8473715652 050000 0000 19 58 61 0..1 2 G3/4" HifRiRE 4..20mA 0.3
ECTF1.6A 8473735652 050000 0000 19 58 61 0..16 3.2 G3/4" HiFRRE 4...20mA 0.3
ECTF2.5A 8473755652 050000 00001958 61 0..25 5 G3/4" HiFRRE 4..20mA 0.3
ECTF4.0A 847376 5652 050000 0000 19 58 61 0..4 8 G3/4" HiFRRE 4..20mA 0.3
ECTF6.0A 8473 77 5652 050000 0000 19 58 61 0..6 12 G3/4" HiFRRE 4..20mA 0.3
ECTF10.0A 847378 5652 050000 0000 19 58 61 0..10 20 G3/4" HifRAR 4..20mA 0.3

H72326an Tit5 4/9 sensors@controls



ECT 8473

RBARE

B EIE BHiES [ HBBE 4..20 mA:24 (9...30) VDC
0...5VDC:24 (10...30) VDC
1...6VVDC:24 (10...30) VDC
0...10VDC:24 (15...30) VDC
0.5...4.5VDC:5VDC kb=
EFAYiE) EBRE 1 ms/10... 90 %iTHRES
EIBILR ®ALS5S
REMRERF, FEEEE @ 25°C, 5 HEH 4..20 mA: &R U, =30VDC
0..10VDC,0...5VDC, 1...6 VDC: &k U,=30VDC
0.5..45VDC LbEX &K U.=5.25VDC
FiR&M NEURE -25°C... +125°C
WRRE -25°C...+125°C
BB45 PVC 22:-5°C ... +60°C
BE45 PUR 24:-20°C ... +70°C
345 Raychem 08:-20°C ... +100°C
BHIPELR Y IP65, IP67, IP68
nE BRK 95 % %A
Rzh 15 g RMS (20...2000 Hz) (EN60068-2-64)
15 g Sinus (10...2000 Hz) (EN60068-2-6)
3k 50 g/ 11 ms (EN60068-2-27)
EMCHHR A =) EN/IEC 61000-6-3
T EN/IEC 61000-6-2
MR ZRk3s (RN R) K%, ALO, (96 %)
0 (RN 54/84:1.4305 (AISI303)
56/86:1.4404/1.4435 (AISI316L)
50/80:1.4462 (AISI318LN)
51/81:F& 55k A®
Hhs 54/84:1.4305 (AISI303)
56/86:1.4404/1.4435 (AISI316L)
50/80:1.4462 (AISI318LN)
51/81: %4 5 shaE
eS| FKM 70 Sh, CR, EPDM
HEEHEK SIITHES
B8 ~110g
RHEHE 15...20Nm
U BNBRERE
RE
EANETE [bar] >0..0.3 >0..0.2 >0..0.1
<0..0.3 <0..0.2
Option 5P (Codes 55-59)
[psi] >0..5 >0..25 >0..15
<0..5 <0..25
BIZEH @-25...+85°C [% FS $a8!(#) +10 +20 +3.0
FBE @ +25°C [% FS 88(F] 103 05 +1.0
NLH @ +25°C (BSL) [% FS EAE(E] 102 103 +0.3
TC ERREBMEEEE [% FS/K #a8Y{E] +0.02 +0.02 +0.02
1 ERKPRTE @ +25°C [% FS EAEE] 102 102 +0.2
H72326an g 5/9 sensors & controls



ECT 8473

=1 i = =3
MEFEE 1.0 % WEFEE 0.5 %
7 7
6 6
s — —— 5
N ~ — ¢ ~ . —
— 3 — ~1 | — . 3 L —|—
® 2 — | — S —— ~— ——
= ! > ! —
8 0 —-~H-—-—-—-—-~|————1— 11— e 0 ——+-—-t+—-t+—-—F+-—"—+fF-—t—"+—7F—F—1+}T—
e s o
g1 — ER R R = e 1= = S =
3 L — ——— | : —= —
N — e 4 — 7 ~ -
5 — | — 5
6 -6
7 -7
-40 -30 200 10 0 10 20 30 40 50 60 70 80 90 100 -40 -30 20 10 0 10 20 30 40 50 60 70 80 90 100
max. — —  typ.—— I TEB(-25...+85) Temp.(°C) max. — — typ.—— [ TEB(-25...+85) Temp. (°C)
= E
= '-u-
m“i*ﬁ = 0.3%
4
3
— ~ - —
—_ 2 ~ |
=R ~ — T
:;‘ , T | —T
[ I I s e ey - e et Y N O Y O AN
e L ——
= 2 - e
3 _ /-’ i ™~
4

50 40 -30 20 10 0 10 20 30 40 50 60 70 80 90 100
max. — — typ.—— [ TEB(-25...+85) Temp. (°C)

BSEO

Eal 2Tk b3

|P65*) IP67* IP67*) P68 P68
max. 3m max.3m
Tl M12x1 **) Packard Ba**) B4 *%)
EN175301-803A ** 51k Metri Pack **
3-1%
05 35 51 24/22 08
g 32 3 2
5
foley 4@ WE==E=—o
& 1
i 92 ol 94 | G9 E4
P T Us (pos supply) 2 1 4 111 1 1 =1:) AR
4-20mA'_:_:_® Us (neg. Supply) 1 2 1 313 2 3 Iz 2
I 1—-—(;)—@ Earth (housing) ® ® 5 5 4 e o)
& ——— Shield***
8473.xX.XXXX.XX.19
forDC It 98 | 97 99
P 10 supply @ 2 3 11 2 1|1 B aI&
——— Output @ 3 1 |3 4 3 2 3 [
.~} — +— Common © 1 2 2 3 2 3 ) 1)
U ‘_—l;l—@ Earth (housing) ® ® ©) 5 ) 3
&——— Shield ***)
8473.xx.xxxx.xx.14/16/17/23

B RZIRALE RERRFLIE B
) @Rk R4S
N BT P S B R O R AR LR K

pre =} HIER www.trafag.com/H72326
1RAERBAH www.trafag.com/H73324
INF www.trafag.com/H70663

H72326an 7153 6/9 sensors & controls



ECT 8473

R~F
38 3¥5 21
40 21 ‘
' el a— = F—
| k:ij‘ﬁ'Ll { N::Jr"}LI
o ofs | 1.4305 e
x5 ~N ﬁ NN Nl IS
SIE S siE sl s alE o
8473.XX.XXXX.05.XX.XX 8473.XX.XXXX.35.XX.XX 8473.XX.X417.35.XX.XX
8473.XX.X617.35.XX.XX
8473.XX.X642.35.XX.XX
8473.XX.X643.35.XX.XX
8473.XX.X652.35.XX.XX
39 255 335 255

| T
_ P
S 8s 8
8473 XX XXXX.51.XX. XX 8473.XX.X417.51. XX. XX

84T73.XX.X617.51.XX.XX
8473.XX.X642.51.XX.XX
8473.XX.X643.51.XX.XX
8473.XX.X652.51.XX.XX

38 | 35.5 customer spec. length 15
— 3| 5
P e

021/024.5
048-062

8473.XX.XXXX.22/24/08/68.XX.XX

H72326an T8 7/9 sensors &) controls



ECT 8473

R~
332 21 27
~ ~
§ § g N 1.4305 g § g
NE= NE
8473.XX.XX52.35.XX.XX 8473.XX.X652.35.XX.XX
32 255 27 ‘ 255
& &
g % ) § % =
QT (S
8473.XX.XX52.51.XX.XX 8473.XX.X652.51.XX.XX
16 3132 355
2.8 with male thread
“EE) YipEt_Baly
Q| =
[S)
O-Ring / 2 o~
020x15 S g S
Sealing DIN/ISO 3869 = S 2
23.9x29.2x1.5 & =

8473.XX.XX52.22/24/08.XX.XX

H72326an DI85 8/9 sensors &) controls



14

=S
=

HEX27

14.5

021
G1/4"

12.5

8473.XX.XX10.XX. XX. XX

14 3115

029.5
HEX27

8473.XX.XX59.XX.XX.XX

7/16"-20UNF SAE J512

Valve Opener

8473.XX.XX24.XX.XX.XX

11.5

ECT 8473

(28.5)
14 3115

~

>
n
=

9.
HEX27 T——

?5.05x3U
M 5x7

8473 XX.XX21.XX.XX. XX 8473 XX.XX41.XX.XX. XX

M5x7

8473.XX.XX30.XX.XX.XX 8473.XX.X643.XX.XX.XX

029.5
HEX27

145
17
, 9 |23
15.1 ORing 1
08.92x1.83 .
= Ms:7
= 7/16"-20UNF

SAE4(J1926) @295

HEX27

ANSIB1.20.1
ANSIB1.20.1

HEX27

8473 . XX.XX42. XX XX. XX  8473.XX.XX18.XX.XX.XX

14.5

716" 20UNF SAE 512 10

9/16"-18UNF
SAE6 (J1926)

M5x7

029.5
HEX27

029.5
HEX27

8473.XX.XX44.XX.XX.XX 8473 . XX.XX61.XX.XX.XX 8473.XX.XX19.XX.XX.XX

16 31-32 with male thread

Bore
M 21 28 ‘
i G3/4"
1)
2 © 1
= _ 0 923
& N - 050
16 RN
23.9x29.241.5 G3/4" BiFEAE (AISI 316L)
8473.XX.XX52.05.XX.XX 1BE=
1S C27805
5.5 27 5.5 27
|
|
| ‘ 54...60 ‘
[T ]]5 f 2
= —| M) 2 1) EE»

1)Tightening torque 50...60 Ncm

8473.XX.XXXX.XX.XX.46/56

H72326an

1)Tightening torque 50...60 Ncm

8473 XX.XXXX.XX.XX.58 84T73.XX.XXXX.XX.XX.33

7153 9/9 sensors@controls



